General Info

Number: PROJECT NO. 40-18-02

Description:

BRIDGE REPAINTING

CARLEY ROAD (T.R. 202) OVER OHIO TURNPIKE – M.P. 94.7, GIBBS ROAD (T.R. 238) OVER OHIO TURNPIKE – M.P. 97.6, KARBLER ROAD (T.R. 244) OVER OHIO TURNPIKE – M.P. 98.1, YORKTOWN ROAD (C.R. 260) OVER OHIO TURNPIKE – M.P. 100.2,

COPP ROAD (T.R. 302) OVER OHIO TURNPIKE - M.P. 104.3,

NORTHWEST/SOUTHWEST ROAD (CR 312) OVER OHIO TURNPIKE - M.P.

106.1,

DEYO ROAD (T.R. 102) OVER OHIO TURNPIKE - M.P. 107.5

SANDUSKY AND ERIE COUNTIES, OHIO

Deadline: FEBRUARY 22, 2018 AT 2:00 P.M. (EASTERN)

(Estimated Cost: \$1,800,000)

Bids	
Business	Bid Total
APBN Inc	\$1,293,995.00
360 Construction Co Inc.	\$1,639,742.75
Panther Industrial Painting,	\$1,738,900.00
Elite Contractors, Inc.	\$1,857,780.00
Abhe & Svoboda, Inc.	\$2.884.030.00

APBN, INC.

GENER	GENERAL (Ref. Nos. 1 - 3)								
Ref. No	. Item No.	Description	Quantity	Units	Unit Price	Extension			
1	IB.ART.6	PREMIUM FOR CONTRACT PERFORMANCE	1	LUMP	\$20,000.00	\$20,000.00			
		BOND AND PAYMENT BOND							
2	SP 614	MAINTAINING TRAFFIC	1	LUMP	\$95,000.00	\$95,000.00			
3	624	MOBILIZATION	1	LUMP	\$45,000.00	\$45,000.00			

Total: \$160,000.00

PAINTIN	IG OF ST	RUCTURE - CARLY ROAD OVER OHIO TURNPI	KE MP. 94	.7 (Ref. No	os. 4 - 15)	
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
4	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1	LUMP	\$85,572.00	\$85,572.00
		SYSTEM OZEU				
5	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME	1	LUMP	\$19,016.00	\$19,016.00
		COAT, SYSTEM OZEU				
6	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$19,016.00	\$19,016.00
		INTERMEDIATE COAT, SYSTEM OZEU				
7	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$19,016.00	\$19,016.00
		FINISH COAT, SYSTEM OZEU				
8	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00
9	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$100.00	\$2,000.00
10	SP 525A	WORKER PROTECTION	1	LUMP	\$100.00	\$100.00
11	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$50.00	\$1,000.00
12	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	\$1,000.00
13	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING	1	LUMP	\$100.00	\$100.00
		AND DISPOSAL				
14	SP 525A	PAINT WASTE / NON-HAZARDOUS WASTE	1	LUMP	\$100.00	\$100.00
		HANDLING AND DISPOSAL				
15	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$5,000.00	\$5,000.00

Total: \$153,520.00

PAINTIN	PAINTING OF STRUCTURE - GIBBS ROAD OVER OHIO TURNPIKE MP. 97.6 (Ref. Nos. 16 - 27)					
		Description	Quantity	Units	Unit Price	Extension
16	SP 514A	SURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU	1	LUMP	\$85,284.00	\$85,284.00
17	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU	1	LUMP	\$18,952.00	\$18,952.00
18	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU	1	LUMP	\$18,952.00	\$18,952.00
19	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1	LUMP	\$18,952.00	\$18,952.00
20	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00
21	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$100.00	\$2,000.00
22	SP 525A	WORKER PROTECTION	1	LUMP	\$100.00	\$100.00
23	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$50.00	\$1,000.00
24	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	\$1,000.00
25	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP	\$100.00	\$100.00
26	SP 525A	PAINT WASTE / NON-HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP	\$100.00	\$100.00
27	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$5,000.00	\$5,000.00
						* . -

Total: \$153,040.00

PAINTING OF STRUCTURE - KARBLER ROAD OVER OHIO TURNPIKE MP 98.1 (Ref. Nos. 28 - 39)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
28	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1	LUMP	\$86,958.00	\$86,958.00
		SYSTEM OZEU				
29	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME	1	LUMP	\$19,324.00	\$19,324.00
		COAT, SYSTEM OZEU				
30	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$19,324.00	\$19,324.00
		INTERMEDIATE COAT, SYSTEM OZEU			, -,	, :,3 <u>—</u> ::00

31	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1	LUMP	\$19,324.00	\$19,324.00
32	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00
33	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$100.00	\$2,000.00
34	SP 525A WORKER PROTECTION	1	LUMP	\$100.00	\$100.00
35	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$50.00	\$1,000.00
36	SP 525A ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	\$1,000.00
37	SP 525A PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP	\$100.00	\$100.00
38	SP 525A PAINT WASTE / NON-HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP	\$100.00	\$100.00
39	SP 525A CONTAINMENT SYSTEM	1	LUMP	\$5,000.00	\$5,000.00

Total: \$155,830.00

PAINTIN	IG OF ST	RUCTURE - YORKTOWN ROAD OVER OHIO TU	JRNPIKE N	IP 100.2 (I	Ref. Nos. 40 - 5	1)
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
40	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1	LUMP	\$124,254.00	\$124,254.00
		SYSTEM OZEU				
41	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME	1	LUMP	\$27,612.00	\$27,612.00
		COAT, SYSTEM OZEU				
42	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$27,612.00	\$27,612.00
		INTERMEDIATE COAT, SYSTEM OZEU				
43	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$27,612.00	\$27,612.00
		FINISH COAT, SYSTEM OZEU				
44	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00
45	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$100.00	\$2,000.00
46	SP 525A	WORKER PROTECTION	1	LUMP	\$100.00	\$100.00
47	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$50.00	\$1,000.00
48	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	\$1,000.00
49	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING	1	LUMP	\$100.00	\$100.00
		AND DISPOSAL				

50	SP 525A PAINT WASTE / NON-HAZARDOUS WASTE	1	LUMP	\$100.00	\$100.00
	HANDLING AND DISPOSAL				
51	SP 525A CONTAINMENT SYSTEM	1	LUMP	\$5,000.00	\$5,000.00

Total: \$217,990.00

PAINTIN	PAINTING OF STRUCTURE - COPP ROAD OVER OHIO TURNPIKE MP 104.3 (Ref. Nos. 52 - 63)					
		Description	Quantity	Units	Unit Price	Extension
52	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1	LUMP	\$86,022.00	\$86,022.00
		SYSTEM OZEU				
53	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME	1	LUMP	\$19,116.00	\$19,116.00
		COAT, SYSTEM OZEU				
54	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$19,116.00	\$19,116.00
		INTERMEDIATE COAT, SYSTEM OZEU				
55	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$19,116.00	\$19,116.00
		FINISH COAT, SYSTEM OZEU				
56	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00
57	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$100.00	\$2,000.00
58	SP 525A	WORKER PROTECTION	1	LUMP	\$100.00	\$100.00
59	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$50.00	\$1,000.00
60	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	\$1,000.00
61	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING	1	LUMP	\$100.00	\$100.00
		AND DISPOSAL				
62	SP 525A	PAINT WASTE / NON-HAZARDOUS WASTE	1	LUMP	\$100.00	\$100.00
		HANDLING AND DISPOSAL				
63	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$5,000.00	\$5,000.00

Total: \$154,270.00

PAINTIN	IG OF ST	RUCTURE - NORTHWEST-SOUTHWEST ROAD	OVER OH	O TURNP	IKE MP 106.1 (F	Ref. Nos.
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
64	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1	LUMP	\$83,853.00	\$83,853.00
		SYSTEM OZEU				
65	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME	1	LUMP	\$18,634.00	\$18,634.00
		COAT, SYSTEM OZEU				
66	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$18,634.00	\$18,634.00
		INTERMEDIATE COAT, SYSTEM OZEU				
67	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$18,634.00	\$18,634.00
		FINISH COAT, SYSTEM OZEU				
68	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00
69	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$100.00	\$2,000.00
70	SP 525A	WORKER PROTECTION	1	LUMP	\$100.00	\$100.00
71	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$50.00	\$1,000.00
72	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	\$1,000.00
73	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING	1	LUMP	\$100.00	\$100.00
		AND DISPOSAL				
74	SP 525A	PAINT WASTE / NON-HAZARDOUS WASTE	1	LUMP	\$100.00	\$100.00
		HANDLING AND DISPOSAL				
75	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$5,000.00	\$5,000.00

Total: \$150,655.00

PAINTIN	PAINTING OF STRUCTURE - DEYO ROAD OVER OHIO TURNPIKE MP 107.5 (Ref. Nos. 76 - 87)							
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension		
1								
76	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1	LUMP	\$82,674.00	\$82,674.00		
		SYSTEM OZEU						
77	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME	1	LUMP	\$18,372.00	\$18,372.00		
		COAT, SYSTEM OZEU						
78	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$18,372.00	\$18,372.00		
		INTERMEDIATE COAT, SYSTEM OZEU			. ,.	, , , ,		

79	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1	LUMP	\$18,372.00	\$18,372.00
80	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00
81	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$100.00	\$2,000.00
82	SP 525A WORKER PROTECTION	1	LUMP	\$100.00	\$100.00
83	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$50.00	\$1,000.00
84	SP 525A ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	\$1,000.00
85	SP 525A PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP	\$100.00	\$100.00
86	SP 525A PAINT WASTE / NON-HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP	\$100.00	\$100.00
87	SP 525A CONTAINMENT SYSTEM	1	LUMP	\$5,000.00	\$5,000.00

Total: \$148,690.00

TOTAL BASE BID (INCLUDES REF. NO. 1 THRU REF. NO. 87) - \$1,293,995.00

360 CONSTRUCTION CO., INC.

GENER	RAL (Ref. N	Nos. 1 - 3)				
Ref. No	o. Item No.	Description	Quantity	Units	Unit Price E	Extension
		PREMIUM FOR CONTRACT PERFORMANCE	1		\$20,000.00	\$20,000.00
1	IB.ART.6	BOND AND PAYMENT BOND		LUMP		
2	SP 614	MAINTAINING TRAFFIC	1	LUMP	\$190,000.00	\$190,000.00
3	624	MOBILIZATION	1	LUMP	\$40,000.00	\$40,000.00

Total: \$250,000.00

PAINTING OF STRUCTURE - CARLY ROAD OVER OHIO TURNPIKE MP. 94.7 (Ref. Nos. 4 - 15)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price E	xtension
		SURFACE PREPARATION OF EXISTING STEEL,	1		\$89,292.50	\$89,292.50
4	SP 514A	SYSTEM OZEU		LUMP		
		FIELD PAINTING OF EXISTING STEEL, PRIME	1		\$35,717.00	\$35,717.00
5	SP 514A	COAT, SYSTEM OZEU		LUMP		
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$35,717.00	\$35,717.00
6	SP 514A	INTERMEDIATE COAT, SYSTEM OZEU		LUMP		
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$8,929.25	\$8,929.25
7	SP 514A	FINISH COAT, SYSTEM OZEU		LUMP		
8	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00
9	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$125.00	\$2,500.00
10	SP 525A	WORKER PROTECTION	1	LUMP	\$100.00	\$100.00
11	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	\$400.00
12	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	\$1,000.00
		PAINT WASTE / HAZARDOUS WASTE HANDLING	1		\$1,500.00	\$1,500.00
13	SP 525A	AND DISPOSAL		LUMP		
		PAINT WASTE / NON-HAZARDOUS WASTE	1		\$500.00	\$500.00
14	SP 525A	HANDLING AND DISPOSAL		LUMP		
15	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$15,000.00	\$15,000.00

Total: \$192,255.75

PAINTIN	PAINTING OF STRUCTURE - GIBBS ROAD OVER OHIO TURNPIKE MP. 97.6 (Ref. Nos. 16 - 27)					
		Description	Quantity	Units	Unit Price E	xtension
		OUDEACE PREPARATION OF EVICTING OTTER			# 00 7 00 00	****
40	OD 5444	SURFACE PREPARATION OF EXISTING STEEL,	1		\$88,700.00	\$88,700.00
16	SP 514A	SYSTEM OZEU		LUMP	#05 400 00	* 05 400 00
		FIELD PAINTING OF EXISTING STEEL, PRIME	1		\$35,480.00	\$35,480.00
17	SP 514A	COAT, SYSTEM OZEU		LUMP		
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$35,480.00	\$35,480.00
18	SP 514A	INTERMEDIATE COAT, SYSTEM OZEU		LUMP		
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$8,870.00	\$8,870.00
19	SP 514A	FINISH COAT, SYSTEM OZEU		LUMP		
20	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00
21	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$125.00	\$2,500.00
22	SP 525A	WORKER PROTECTION	1	LUMP	\$100.00	\$100.00
23	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	\$400.00
24	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$100.00	\$100.00
		PAINT WASTE / HAZARDOUS WASTE HANDLING	1		\$1,500.00	\$1,500.00
25	SP 525A	AND DISPOSAL		LUMP		
		PAINT WASTE / NON-HAZARDOUS WASTE	1		\$500.00	\$500.00
26	SP 525A	HANDLING AND DISPOSAL		LUMP	•	•
27	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$15.000.00	\$15.000.00
					, , , ,	, ,
24 25 26	SP 525A SP 525A SP 525A	ESTABLISH REGULATED AREAS PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL PAINT WASTE / NON-HAZARDOUS WASTE HANDLING AND DISPOSAL	1 1 1	LUMP LUMP		\$100.00 \$1,500.00

Total: \$190,230.00

PAINTIN	PAINTING OF STRUCTURE - KARBLER ROAD OVER OHIO TURNPIKE MP 98.1 (Ref. Nos. 28 - 39)							
Ref. No.	Item No.	Description	Quantity	Units	Unit Price E	xtension		
		SURFACE PREPARATION OF EXISTING STEEL,	1		\$90,695.00	\$90,695.00		
28	SP 514A	SYSTEM OZEU		LUMP				
		FIELD PAINTING OF EXISTING STEEL, PRIME	1		\$36,278.00	\$36,278.00		
29	SP 514A	COAT, SYSTEM OZEU		LUMP				
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$36,278.00	\$36,278.00		
30	SP 514A	INTERMEDIATE COAT, SYSTEM OZEU		LUMP	. ,			

\$9,069.50
\$1,600.00
\$2,500.00
\$100.00
\$400.00
\$100.00
\$1,500.00
\$500.00
\$15,000.00
\$10 \$40 \$10 \$1,50 \$50

Total: \$194,020.50

PAINTIN	PAINTING OF STRUCTURE - YORKTOWN ROAD OVER OHIO TURNPIKE MP 100.2 (Ref. Nos. 40 - 51)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price E	xtension	
		SURFACE PREPARATION OF EXISTING STEEL,	1		\$116,325.00	\$116,325.00	
40	SP 514A	SYSTEM OZEU		LUMP			
		FIELD PAINTING OF EXISTING STEEL, PRIME	1		\$46,530.00	\$46,530.00	
41	SP 514A	COAT, SYSTEM OZEU		LUMP			
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$46,530.00	\$46,530.00	
42	SP 514A	INTERMEDIATE COAT, SYSTEM OZEU		LUMP			
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$11,632.50	\$11,632.50	
43	SP 514A	FINISH COAT, SYSTEM OZEU		LUMP			
44	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00	
45	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$125.00	\$2,500.00	
46	SP 525A	WORKER PROTECTION	1	LUMP	\$100.00	\$100.00	
47	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	\$400.00	
48	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$100.00	\$100.00	
		PAINT WASTE / HAZARDOUS WASTE HANDLING	1		\$1,500.00	\$1,500.00	
49	SP 525A	AND DISPOSAL		LUMP			

	PAINT WASTE / NON-HAZARDOUS WASTE	1		\$500.00	\$500.00
50	SP 525A HANDLING AND DISPOSAL		LUMP		
51	SP 525A CONTAINMENT SYSTEM	1	LUMP	\$15,000.00	\$15,000.00

Total: \$242,717.50

PAINTIN	PAINTING OF STRUCTURE - COPP ROAD OVER OHIO TURNPIKE MP 104.3 (Ref. Nos. 52 - 63)					
Ref. No.	Item No.	Description	Quantity	Units	Unit Price E	xtension
		SURFACE PREPARATION OF EXISTING STEEL,	1		\$90,695.00	\$90,695.00
52	SP 514A	SYSTEM OZEU		LUMP		
		FIELD PAINTING OF EXISTING STEEL, PRIME	1		\$36,278.00	\$36,278.00
53	SP 514A	COAT, SYSTEM OZEU		LUMP		
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$36,278.00	\$36,278.00
54	SP 514A	INTERMEDIATE COAT, SYSTEM OZEU		LUMP		
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$9,069.50	\$9,069.50
55	SP 514A	FINISH COAT, SYSTEM OZEU		LUMP		
56	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00
57	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$125.00	\$2,500.00
58	SP 525A	WORKER PROTECTION	1	LUMP	\$100.00	\$100.00
59	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	\$400.00
60	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$100.00	\$100.00
		PAINT WASTE / HAZARDOUS WASTE HANDLING	1		\$1,500.00	\$1,500.00
61	SP 525A	AND DISPOSAL		LUMP		
		PAINT WASTE / NON-HAZARDOUS WASTE	1		\$500.00	\$500.00
62	SP 525A	HANDLING AND DISPOSAL		LUMP		
63	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$15,000.00	\$15,000.00

Total: \$194,020.50

PAINTIN	IG OF ST	RUCTURE - NORTHWEST-SOUTHWEST ROAD	OVER OHI	O TURNP	IKE MP 106.1 (F	Ref. Nos.
Ref. No.	Item No.	Description	Quantity	Units	Unit Price E	xtension
		SURFACE PREPARATION OF EXISTING STEEL,	1		\$88,360.00	\$88,360.00
64	SP 514A	SYSTEM OZEU		LUMP		
		FIELD PAINTING OF EXISTING STEEL, PRIME	1		\$35,344.00	\$35,344.00
65	SP 514A	COAT, SYSTEM OZEU		LUMP		
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$35,344.00	\$35,344.00
66	SP 514A	INTERMEDIATE COAT, SYSTEM OZEU		LUMP		
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$8,836.00	\$8,836.00
67	SP 514A	FINISH COAT, SYSTEM OZEU		LUMP		
68	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00
69	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$125.00	\$2,500.00
70	SP 525A	WORKER PROTECTION	1	LUMP	\$100.00	\$100.00
71	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	\$400.00
72	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$100.00	\$100.00
		PAINT WASTE / HAZARDOUS WASTE HANDLING	1		\$1,500.00	\$1,500.00
73	SP 525A	AND DISPOSAL		LUMP		
		PAINT WASTE / NON-HAZARDOUS WASTE	1		\$500.00	\$500.00
74	SP 525A	HANDLING AND DISPOSAL		LUMP		
75	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$15,000.00	\$15,000.00

Total: \$189,584.00

PAINTING OF STRUCTURE - DEYO ROAD OVER OHIO TURNPIKE MP 107.5 (Ref. Nos. 76 - 87)							
Ref. No.	Item No.	Description	Quantity	Units	Unit Price E	xtension	
		SURFACE PREPARATION OF EXISTING STEEL,	1		\$86,955.00	\$86,955.00	
76	SP 514A	SYSTEM OZEU		LUMP			
		FIELD PAINTING OF EXISTING STEEL, PRIME	1		\$34,782.00	\$34,782.00	
77	SP 514A	COAT, SYSTEM OZEU		LUMP			
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$34,782.00	\$34,782.00	
78	SP 514A	INTERMEDIATE COAT, SYSTEM OZEU		LUMP			

		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$8,695.50	\$8,695.50
79	SP 514A	FINISH COAT, SYSTEM OZEU		LUMP		
80	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00
81	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$125.00	\$2,500.00
82	SP 525A	WORKER PROTECTION	1	LUMP	\$100.00	\$100.00
83	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	\$400.00
84	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$100.00	\$100.00
		PAINT WASTE / HAZARDOUS WASTE HANDLING	1		\$1,500.00	\$1,500.00
85	SP 525A	AND DISPOSAL		LUMP		
		PAINT WASTE / NON-HAZARDOUS WASTE	1		\$500.00	\$500.00
86	SP 525A	HANDLING AND DISPOSAL		LUMP		
87	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$15,000.00	\$15,000.00

Total: \$186,914.50

TOTAL BASE BID (INCLUDES REF. NO. 1 THRU REF. NO. 87) - \$1,639,742.75

PANTHER INDUSTRIAL PAINTING

GENER	AL (Ref. N	Nos. 1 - 3)				
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
1	IB.ART.6	PREMIUM FOR CONTRACT PERFORMANCE	1	LUMP	\$30,000.00	\$30,000.00
		BOND AND PAYMENT BOND				
2	SP 614	MAINTAINING TRAFFIC	1	LUMP	\$100,000.00	\$100,000.00
3	624	MOBILIZATION	1	LUMP	\$120,000.00	\$120,000.00
					Total:	\$250,000.00
		RUCTURE - CARLY ROAD OVER OHIO TURNP				_
		Description	Quantity	Units	Unit Price	Extension
4	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1	LUMP	\$140,000.00	\$140,000.00
		SYSTEM OZEU				
5	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME	1	LUMP	\$20,000.00	\$20,000.00
		COAT, SYSTEM OZEU	_		•	•
6	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$20,000.00	\$20,000.00
_	05 5444	INTERMEDIATE COAT, SYSTEM OZEU	4		# 00 000 00	# 00 000 00
7	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$20,000.00	\$20,000.00
0	OD 5444	FINISH COAT, SYSTEM OZEU	00	HOUDO	# 400.00	#0.000.00
8		REMEDIATION OF CHLORIDES	32	HOURS	\$100.00	
9		GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$200.00	\$4,000.00
10		WORKER PROTECTION	1	LUMP	\$100.00	\$100.00
11		PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$5.00	•
12		ESTABLISH REGULATED AREAS	1	LUMP	\$100.00	•
13	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING	1	LUMP	\$100.00	\$100.00
4.4	OD 505 A	AND DISPOSAL	4	LLIMD	# 400.00	# 400.00
14	25 25Y	PAINT WASTE / NON-HAZARDOUS WASTE	1	LUMP	\$100.00	\$100.00
15	CD ESEA	HANDLING AND DISPOSAL	4		¢ E 000 00	¢ E 000 00
15	25 25 A	CONTAINMENT SYSTEM	1	LUMP	\$5,000.00	\$5,000.00

Total:

\$212,700.00

PAINTIN	PAINTING OF STRUCTURE - GIBBS ROAD OVER OHIO TURNPIKE MP. 97.6 (Ref. Nos. 16 - 27)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension	
	OD 5444	OUDEAGE DREDADATION OF EVICTING OTER	4	LLIMD	£4.40.000.00	\$4.40.000.00	
16	SP 514A	SURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU	1	LUMP	\$140,000.00	\$140,000.00	
17	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU	1	LUMP	\$20,000.00	\$20,000.00	
18	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU	1	LUMP	\$20,000.00	\$20,000.00	
19	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1	LUMP	\$20,000.00	\$20,000.00	
20	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$100.00	\$3,200.00	
21	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$200.00	\$4,000.00	
22	SP 525A	WORKER PROTECTION	1	LUMP	\$100.00	\$100.00	
23	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$5.00	\$100.00	
24	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$100.00	\$100.00	
25	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP	\$100.00	\$100.00	
26	SP 525A	PAINT WASTE / NON-HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP	\$100.00	\$100.00	
27	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$5,000.00	\$5,000.00	
					T . 4 . 1	#040 700 00	

PAINTIN	PAINTING OF STRUCTURE - KARBLER ROAD OVER OHIO TURNPIKE MP 98.1 (Ref. Nos. 28 - 39)							
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension		
1								
28	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1	LUMP	\$140,000.00	\$140,000.00		
		SYSTEM OZEU						
29	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME	1	LUMP	\$20,000.00	\$20,000.00		
		COAT, SYSTEM OZEU						
30	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$20,000.00	\$20,000.00		
		INTERMEDIATE COAT, SYSTEM OZEU			, 2,000	÷ -,00000		

31	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1	LUMP	\$20,000.00	\$20,000.00
32	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$100.00	\$3,200.00
33	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$200.00	\$4,000.00
34	SP 525A WORKER PROTECTION	1	LUMP	\$100.00	\$100.00
35	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$5.00	\$100.00
36	SP 525A ESTABLISH REGULATED AREAS	1	LUMP	\$100.00	\$100.00
37	SP 525A PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP	\$100.00	\$100.00
38	SP 525A PAINT WASTE / NON-HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP	\$100.00	\$100.00
39	SP 525A CONTAINMENT SYSTEM	1	LUMP	\$5,000.00	\$5,000.00

PAINTIN	PAINTING OF STRUCTURE - YORKTOWN ROAD OVER OHIO TURNPIKE MP 100.2 (Ref. Nos. 40 - 51)							
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension		
40	SP 514A	SURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU	1	LUMP	\$140,000.00	\$140,000.00		
41	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU	1	LUMP	\$20,000.00	\$20,000.00		
42	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU	1	LUMP	\$20,000.00	\$20,000.00		
43	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1	LUMP	\$20,000.00	\$20,000.00		
44	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$100.00	\$3,200.00		
45	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$200.00	• •		
46	SP 525A	WORKER PROTECTION	1	LUMP	\$100.00	\$100.00		
47	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$5.00	\$100.00		
48	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$100.00	\$100.00		
49	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP	\$100.00	\$100.00		

50	SP 525A PAINT WASTE / NON-HAZARDOUS WASTE	1	LUMP	\$100.00	\$100.00
	HANDLING AND DISPOSAL				
51	SP 525A CONTAINMENT SYSTEM	1	LUMP	\$5,000.00	\$5,000.00

\$212,700.00

Total:

PAINTIN	PAINTING OF STRUCTURE - COPP ROAD OVER OHIO TURNPIKE MP 104.3 (Ref. Nos. 52 - 63)							
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension		
52	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1	LUMP	\$140,000.00	\$140,000.00		
		SYSTEM OZEU						
53	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME	1	LUMP	\$20,000.00	\$20,000.00		
		COAT, SYSTEM OZEU						
54	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$20,000.00	\$20,000.00		
		INTERMEDIATE COAT, SYSTEM OZEU						
55	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$20,000.00	\$20,000.00		
		FINISH COAT, SYSTEM OZEU						
56	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$100.00	\$3,200.00		
57	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$200.00	\$4,000.00		
58	SP 525A	WORKER PROTECTION	1	LUMP	\$100.00	\$100.00		
59	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$5.00	\$100.00		
60	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$100.00	\$100.00		
61	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING	1	LUMP	\$100.00	\$100.00		
		AND DISPOSAL						
62	SP 525A	PAINT WASTE / NON-HAZARDOUS WASTE	1	LUMP	\$100.00	\$100.00		
		HANDLING AND DISPOSAL						
63	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$5,000.00	\$5,000.00		

PAINTIN	PAINTING OF STRUCTURE - NORTHWEST-SOUTHWEST ROAD OVER OHIO TURNPIKE MP 106.1 (Ref. Nos.						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension	
64	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1	LUMP	\$140,000.00	\$140,000.00	
		SYSTEM OZEU				.	
65	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU	1	LUMP	\$20,000.00	\$20,000.00	
66	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$20,000.00	\$20,000.00	
		INTERMEDIATE COAT, SYSTEM OZEU					
67	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$20,000.00	\$20,000.00	
		FINISH COAT, SYSTEM OZEU					
68	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$100.00	\$3,200.00	
69	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$200.00	\$4,000.00	
70	SP 525A	WORKER PROTECTION	1	LUMP	\$100.00	\$100.00	
71	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$5.00	\$100.00	
72	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$100.00	\$100.00	
73	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING	1	LUMP	\$100.00	\$100.00	
		AND DISPOSAL					
74	SP 525A	PAINT WASTE / NON-HAZARDOUS WASTE	1	LUMP	\$100.00	\$100.00	
		HANDLING AND DISPOSAL					
75	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$5,000.00	\$5,000.00	
					Total	¢242.700.00	
					Total:	\$212,700.00	

PAINTING OF STRUCTURE - DEYO ROAD OVER OHIO TURNPIKE MP 107.5 (Ref. Nos. 76 - 87)								
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension		
76	SP 514A	SURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU	1	LUMP	\$140,000.00	\$140,000.00		
77	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU	1	LUMP	\$20,000.00	\$20,000.00		
78	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU	1	LUMP	\$20,000.00	\$20,000.00		

79	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1	LUMP	\$20,000.00	\$20,000.00
80	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$100.00	\$3,200.00
81	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$200.00	\$4,000.00
82	SP 525A WORKER PROTECTION	1	LUMP	\$100.00	\$100.00
83	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$5.00	\$100.00
84	SP 525A ESTABLISH REGULATED AREAS	1	LUMP	\$100.00	\$100.00
85	SP 525A PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP	\$100.00	\$100.00
86	SP 525A PAINT WASTE / NON-HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP	\$100.00	\$100.00
87	SP 525A CONTAINMENT SYSTEM	1	LUMP	\$5,000.00	\$5,000.00

TOTAL BASE BID (INCLUDES REF. NO. 1 THRU REF. NO. 87) - \$1,738,900.00

ELITE CONTRACTORS, INC.

GENERAL (Ref. Nos. 1 - 3)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
1	IB.ART.6	PREMIUM FOR CONTRACT PERFORMANCE	1	LUMP	\$20,000.00	\$20,000.00
		BOND AND PAYMENT BOND				
2	SP 614	MAINTAINING TRAFFIC	1	LUMP	\$60,000.00	\$60,000.00
3	624	MOBILIZATION	1	LUMP	\$80,000.00	\$80,000.00
					Total:	\$160,000.00
		RUCTURE - CARLY ROAD OVER OHIO TURNPI				_
		Description	Quantity	Units	Unit Price	Extension
4	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1	LUMP	\$130,000.00	\$130,000.00
_		SYSTEM OZEU	_		.	.
5	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME	1	LUMP	\$25,000.00	\$25,000.00
0	OD 544A	COAT, SYSTEM OZEU	4	LLIMD	#05.000.00	#05.000.00
6	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$25,000.00	\$25,000.00
7	CD 514A	INTERMEDIATE COAT, SYSTEM OZEU FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$25,000.00	\$25,000.00
1	SF 514A	FINISH COAT, SYSTEM OZEU	ı	LUIVIP	\$25,000.00	\$25,000.00
8	SP 5144	REMEDIATION OF CHLORIDES	32	HOURS	\$20.00	\$640.00
9		GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$100.00	•
10		WORKER PROTECTION	1	LUMP	\$500.00	
11		PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	·
12	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	
13	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING	1	LUMP	\$2,000.00	
		AND DISPOSAL				
14	SP 525A	PAINT WASTE / NON-HAZARDOUS WASTE	1	LUMP	\$1,000.00	\$1,000.00
		HANDLING AND DISPOSAL				
15	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$30,000.00	\$30,000.00

Total:

\$242,540.00

PAINTING OF STRUCTURE - GIBBS ROAD OVER OHIO TURNPIKE MP. 97.6 (Ref. Nos. 16 - 27)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
16	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1	LUMP	\$130,000.00	\$130,000.00
		SYSTEM OZEU				
17	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME	1	LUMP	\$25,000.00	\$25,000.00
		COAT, SYSTEM OZEU				
18	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$25,000.00	\$25,000.00
		INTERMEDIATE COAT, SYSTEM OZEU				
19	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$25,000.00	\$25,000.00
		FINISH COAT, SYSTEM OZEU				
20	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$20.00	\$640.00
21	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$100.00	\$2,000.00
22	SP 525A	WORKER PROTECTION	1	LUMP	\$500.00	\$500.00
23	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	\$400.00
24	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	\$1,000.00
25	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING	1	LUMP	\$2,000.00	\$2,000.00
		AND DISPOSAL				
26	SP 525A	PAINT WASTE / NON-HAZARDOUS WASTE	1	LUMP	\$1,000.00	\$1,000.00
		HANDLING AND DISPOSAL				
27	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$30,000.00	\$30,000.00

PAINTIN	PAINTING OF STRUCTURE - KARBLER ROAD OVER OHIO TURNPIKE MP 98.1 (Ref. Nos. 28 - 39)							
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension		
28	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1	LUMP	\$130,000.00	\$130,000.00		
		SYSTEM OZEU						
29	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME	1	LUMP	\$25,000.00	\$25,000.00		
		COAT, SYSTEM OZEU						
30	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$25,000.00	\$25,000.00		
		INTERMEDIATE COAT, SYSTEM OZEU			,			

31	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1	LUMP	\$25,000.00	\$25,000.00
32	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$20.00	\$640.00
33	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$100.00	\$2,000.00
34	SP 525A WORKER PROTECTION	1	LUMP	\$500.00	\$500.00
35	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	\$400.00
36	SP 525A ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	\$1,000.00
37	SP 525A PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP	\$2,000.00	\$2,000.00
38	SP 525A PAINT WASTE / NON-HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP	\$1,000.00	\$1,000.00
39	SP 525A CONTAINMENT SYSTEM	1	LUMP	\$30,000.00	\$30,000.00

PAINTIN	PAINTING OF STRUCTURE - YORKTOWN ROAD OVER OHIO TURNPIKE MP 100.2 (Ref. Nos. 40 - 51)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension	
40	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1	LUMP	\$130,000.00	\$130,000.00	
		SYSTEM OZEU					
41	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME	1	LUMP	\$25,000.00	\$25,000.00	
		COAT, SYSTEM OZEU					
42	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$25,000.00	\$25,000.00	
		INTERMEDIATE COAT, SYSTEM OZEU					
43	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$25,000.00	\$25,000.00	
		FINISH COAT, SYSTEM OZEU					
44	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$20.00	\$640.00	
45	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$100.00	\$2,000.00	
46	SP 525A	WORKER PROTECTION	1	LUMP	\$500.00	\$500.00	
47	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	\$400.00	
48	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	\$1,000.00	
49	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING	1	LUMP	\$2,000.00	\$2,000.00	
		AND DISPOSAL					

50	SP 525A PAINT WASTE / NON-HAZARDOUS WASTE	1	LUMP	\$1,000.00	\$1,000.00
	HANDLING AND DISPOSAL				
51	SP 525A CONTAINMENT SYSTEM	1	LUMP	\$30,000.00	\$30,000.00

PAINTING OF STRUCTURE - COPP ROAD OVER OHIO TURNPIKE MP 104.3 (Ref. Nos. 52 - 63)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
52	SP 514A	SURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU	1	LUMP	\$130,000.00	\$130,000.00
53	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU	1	LUMP	\$25,000.00	\$25,000.00
54	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU	1	LUMP	\$25,000.00	\$25,000.00
55	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1	LUMP	\$25,000.00	\$25,000.00
56	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$20.00	\$640.00
57	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$100.00	\$2,000.00
58	SP 525A	WORKER PROTECTION	1	LUMP	\$500.00	\$500.00
59	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	\$400.00
60	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	\$1,000.00
61	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP	\$2,000.00	\$2,000.00
62	SP 525A	PAINT WASTE / NON-HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP	\$1,000.00	\$1,000.00
63	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$30,000.00	\$30,000.00

Total: \$242,540.00

PAINTIN	PAINTING OF STRUCTURE - NORTHWEST-SOUTHWEST ROAD OVER OHIO TURNPIKE MP 106.1 (Ref. Nos.					
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
64	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1	LUMP	\$130,000.00	\$130,000.00
		SYSTEM OZEU				
65	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME	1	LUMP	\$25,000.00	\$25,000.00
		COAT, SYSTEM OZEU				
66	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$25,000.00	\$25,000.00
		INTERMEDIATE COAT, SYSTEM OZEU				
67	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$25,000.00	\$25,000.00
		FINISH COAT, SYSTEM OZEU				
68	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$20.00	\$640.00
69	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$100.00	\$2,000.00
70	SP 525A	WORKER PROTECTION	1	LUMP	\$500.00	\$500.00
71	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	\$400.00
72	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	\$1,000.00
73	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING	1	LUMP	\$2,000.00	\$2,000.00
		AND DISPOSAL				
74	SP 525A	PAINT WASTE / NON-HAZARDOUS WASTE	1	LUMP	\$1,000.00	\$1,000.00
		HANDLING AND DISPOSAL				
75	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$30,000.00	\$30,000.00
					Total:	\$242,540.00
						•

PAINTING OF STRUCTURE - DEYO ROAD OVER OHIO TURNPIKE MP 107.5 (Ref. Nos. 76 - 87)							
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension	
76	SP 514A	SURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU	1	LUMP	\$130,000.00	\$130,000.00	
77	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU	1	LUMP	\$25,000.00	\$25,000.00	
78	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU	1	LUMP	\$25,000.00	\$25,000.00	

79	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1	LUMP	\$25,000.00	\$25,000.00
80	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$20.00	\$640.00
81	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$100.00	\$2,000.00
82	SP 525A WORKER PROTECTION	1	LUMP	\$500.00	\$500.00
83	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	\$400.00
84	SP 525A ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	\$1,000.00
85	SP 525A PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP	\$2,000.00	\$2,000.00
86	SP 525A PAINT WASTE / NON-HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP	\$1,000.00	\$1,000.00
87	SP 525A CONTAINMENT SYSTEM	1	LUMP	\$30,000.00	\$30,000.00

TOTAL BASE BID (INCLUDES REF. NO. 1 THRU REF. NO. 87) - \$1,857,780.00

ABHE & SVOBODA, INC.

GENERA	GENERAL (Ref. Nos. 1 - 3)					
	•	Description	Quantity	Units	Unit Price	Extension
1	IB.ART.6	PREMIUM FOR CONTRACT PERFORMANCE	1	LUMP	\$25,000.00	\$25,000.00
		BOND AND PAYMENT BOND				
2	SP 614	MAINTAINING TRAFFIC	1	LUMP	\$165,000.00	\$165,000.00
3	624	MOBILIZATION	1	LUMP	\$120,000.00	\$120,000.00
					Total:	\$310,000.00
		RUCTURE - CARLY ROAD OVER OHIO TURNPI		•		
Ref. No.		Description	Quantity	Units	Unit Price	Extension
4	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1	LUMP	\$142,072.00	\$142,072.00
		SYSTEM OZEU				
5	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME	1	LUMP	\$27,405.00	\$27,405.00
		COAT, SYSTEM OZEU				
6	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$26,390.00	\$26,390.00
		INTERMEDIATE COAT, SYSTEM OZEU			•	.
7	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$38,570.00	\$38,570.00
•	05 -444	FINISH COAT, SYSTEM OZEU			A.	40.000.00
8		REMEDIATION OF CHLORIDES	32	HOURS	\$190.00	
9		GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$120.00	
10		WORKER PROTECTION	1	LUMP	\$5,000.00	
11		PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	•
12		ESTABLISH REGULATED AREAS	1	LUMP	\$3,500.00	. ,
13	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING	1	LUMP	\$6,000.00	\$6,000.00
4.4	OD 5054	AND DISPOSAL	4	LLIME	#4.000.00	#4.000.00
14	5P 525A	PAINT WASTE / NON-HAZARDOUS WASTE	1	LUMP	\$4,000.00	\$4,000.00
4.5	OD 505 4	HANDLING AND DISPOSAL	4	LLIME	# 00,000,00	# 00 000 00
15	SP 525A	CONTAINMENT SYSTEM	7	LUMP	\$60,000.00	\$60,000.00

Total:

\$321,817.00

PAINTIN	PAINTING OF STRUCTURE - GIBBS ROAD OVER OHIO TURNPIKE MP. 97.6 (Ref. Nos. 16 - 27)					
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
16	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1	LUMP	\$241,870.00	\$241,870.00
		SYSTEM OZEU				
17	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME	1	LUMP	\$48,735.00	\$48,735.00
		COAT, SYSTEM OZEU				
18	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$45,125.00	\$45,125.00
		INTERMEDIATE COAT, SYSTEM OZEU				
19	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$68,590.00	\$68,590.00
		FINISH COAT, SYSTEM OZEU				
20	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$190.00	\$6,080.00
21	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$120.00	\$2,400.00
22	SP 525A	WORKER PROTECTION	1	LUMP	\$8,000.00	\$8,000.00
23	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	\$400.00
24	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$6,000.00	\$6,000.00
25	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING	1	LUMP	\$12,000.00	\$12,000.00
		AND DISPOSAL				
26	SP 525A	PAINT WASTE / NON-HAZARDOUS WASTE	1	LUMP	\$8,000.00	\$8,000.00
		HANDLING AND DISPOSAL				
27	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$105,000.00	\$105,000.00
					Total:	\$552,200.00

PAINTING OF STRUCTURE - KARBLER ROAD OVER OHIO TURNPIKE MP 98.1 (Ref. Nos. 28 - 39) Ref. No. Item No. Description Quantity Units **Unit Price Extension** SP 514A SURFACE PREPARATION OF EXISTING STEEL, 1 LUMP \$152,516.00 \$152,516.00 28 SYSTEM OZEU 29 SP 514A FIELD PAINTING OF EXISTING STEEL, PRIME 1 LUMP \$29,430.00 \$29,430.00 COAT, SYSTEM OZEU 30 SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL, 1 LUMP \$27,250.00 \$27,250.00 INTERMEDIATE COAT, SYSTEM OZEU

31	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1	LUMP	\$41,420.00	\$41,420.00
32	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$190.00	\$6,080.00
33	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$120.00	\$2,400.00
34	SP 525A WORKER PROTECTION	1	LUMP	\$5,000.00	\$5,000.00
35	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	\$400.00
36	SP 525A ESTABLISH REGULATED AREAS	1	LUMP	\$3,500.00	\$3,500.00
37	SP 525A PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP	\$6,000.00	\$6,000.00
38	SP 525A PAINT WASTE / NON-HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP	\$4,000.00	\$4,000.00
39	SP 525A CONTAINMENT SYSTEM	1	LUMP	\$60,000.00	\$60,000.00

Total: \$337,996.00

PAINTIN	PAINTING OF STRUCTURE - YORKTOWN ROAD OVER OHIO TURNPIKE MP 100.2 (Ref. Nos. 40 - 51)					
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
40	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1	LUMP	\$181,870.00	\$181,870.00
		SYSTEM OZEU				
41	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME	1	LUMP	\$36,374.00	\$36,374.00
		COAT, SYSTEM OZEU				
42	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$33,576.00	\$33,576.00
		INTERMEDIATE COAT, SYSTEM OZEU				
43	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1	LUMP	\$51,763.00	\$51,763.00
		FINISH COAT, SYSTEM OZEU				
44	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$190.00	\$6,080.00
45	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$120.00	\$2,400.00
46	SP 525A	WORKER PROTECTION	1	LUMP	\$6,000.00	\$6,000.00
47	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	\$400.00
48	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$4,500.00	\$4,500.00
49	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING	1	LUMP	\$8,000.00	\$8,000.00
		AND DISPOSAL				

50	SP 525A PAINT WASTE / NON-HAZARDOUS WASTE	1	LUMP	\$6,000.00	\$6,000.00
	HANDLING AND DISPOSAL				
51	SP 525A CONTAINMENT SYSTEM	1	LUMP	\$68,000.00	\$68,000.00

Total: \$404,963.00

PAINTING OF STRUCTURE - COPP ROAD OVER OHIO TURNPIKE MP 104.3 (Ref. Nos. 52 - 63)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
52	SP 514A	SURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU	1	LUMP	\$146,160.00	\$146,160.00
53	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU	1	LUMP	\$28,188.00	\$28,188.00
54	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU	1	LUMP	\$26,100.00	\$26,100.00
55	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1	LUMP	\$39,672.00	\$39,672.00
56	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$190.00	\$6,080.00
57	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$120.00	\$2,400.00
58	SP 525A	WORKER PROTECTION	1	LUMP	\$5,000.00	\$5,000.00
59	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	\$400.00
60	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$3,500.00	\$3,500.00
61	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP	\$6,000.00	\$6,000.00
62	SP 525A	PAINT WASTE / NON-HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP	\$4,000.00	\$4,000.00
63	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$60,000.00	\$60,000.00

Total: \$327,500.00

PAINTING OF STRUCTURE - NORTHWEST-SOUTHWEST ROAD OVER OHIO TURNPIKE MP 106.1 (Ref. Nos.						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
64	SP 514A	SURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU	1	LUMP	\$146,160.00	\$146,160.00
65	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU	1	LUMP	\$28,188.00	\$28,188.00
66	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU	1	LUMP	\$26,100.00	\$26,100.00
67	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1	LUMP	\$39,672.00	\$39,672.00
68	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$190.00	\$6,080.00
69	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$120.00	
70	SP 525A	WORKER PROTECTION	1	LUMP	\$5,000.00	\$5,000.00
71	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	\$400.00
72	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$3,500.00	\$3,500.00
73	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP	\$6,000.00	\$6,000.00
74	SP 525A	PAINT WASTE / NON-HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP	\$4,000.00	\$4,000.00
75	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$60,000.00	\$60,000.00
					Total:	\$327,500.00

PAINTING OF STRUCTURE - DEYO ROAD OVER OHIO TURNPIKE MP 107.5 (Ref. Nos. 76 - 87)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
76	SP 514A	SURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU	1	LUMP	\$129,220.00	\$129,220.00
77	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU	1	LUMP	\$27,690.00	\$27,690.00
78	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU	1	LUMP	\$25,844.00	\$25,844.00

79	SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1	LUMP	\$36,920.00	\$36,920.00
80	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$190.00	\$6,080.00
81	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$120.00	\$2,400.00
82	SP 525A WORKER PROTECTION	1	LUMP	\$5,000.00	\$5,000.00
83	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	\$400.00
84	SP 525A ESTABLISH REGULATED AREAS	1	LUMP	\$3,500.00	\$3,500.00
85	SP 525A PAINT WASTE / HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP	\$6,000.00	\$6,000.00
86	SP 525A PAINT WASTE / NON-HAZARDOUS WASTE HANDLING AND DISPOSAL	1	LUMP	\$4,000.00	\$4,000.00
87	SP 525A CONTAINMENT SYSTEM	1	LUMP	\$55,000.00	\$55,000.00

Total: \$302,054.00

TOTAL BASE BID (INCLUDES REF. NO. 1 THRU REF. NO. 87) - \$2,884,030.00